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215 =0 a,+a,+a; =0
Aa +a,)=0 o
AQ(a-é):ﬁ . [B@E+a+a)=0
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2 a, 8, a, a a
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B 0 3 0 3 0 3
570 1 5 3 4 2 6

[' tH 1, +5a, +3a, + 4a, + 285 + 63, = 0

24 A=0" A=2A=4-B=1>B,=2
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5 1 9 3 11 5 13 7 8 2 10 4 12 6 14
i
1a, +9a, +3a, +11a, +5a, +13a, + 7a, +83a, + 28, +10a,, + 4a,, +12a,, +6a,, +14a, =0
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a1 + apm’lJrl + a2>< p"™ 41 e + a'(p—1)>< [ | =0
B F g, F 8y s, oo T iz = 0
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B 83+ 8y Tt + a( P A)ped 0 o
a,+a,,ta, +a m,1Xp=0
Ail (a1 + apm’1+1 + a'2>< p" i1 e + a( p-1)x pm’1+l) =
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AZl (a1 + apm’erl + a2>< p™ 241 e + a'( p?-1)x p'“’2+1) =
AZZ (az + a'p”"2+2 + a'2>< p" 242 e + a'( p?-1)x pm’2+2) =0
= Poa (B +8s ; + 8y pua g o T gygreg) =0
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< S . (l) )
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ak><q + a2><q-¢-l + a3><q-¢-l o + apxq = 0
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SRESKTE A 0y + 0,8, F o8y oo @,

Hillg,=r+(s-1)p i=r(modp) 1<r<p
1=1,2,--- N =s(modq) 1<s<q

rzlﬁﬁ 1 §=12,3,--- q > r+(s-1)p HffiL1l+ p,1+2p,----- 1+(g-1p

r:ZE\ﬂj 0 §=12,3,-+-- 0 r+(s-)p HM2,2+p,2+2p,---- 2+(q-1)p

r=pf> s=123.- Q0 r+(s-1)p Hffp,2p,3p,---- nq
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i*‘is*afoﬁ &+ +a +ag =0
BT R e e a8, =0
a+a,+a,=0 |- — — —

— a+a;+a,+a, =0
a,+ag+a,=0

Ai(ai+ai+a9_):0_ B,(a, +a,+a +a,)=0
Ay (8, +a5+a,)=0 — T T . T\ LA
A}(Ee:_i_g_i_a)_a BZ(a2+a5+a8+a11):o
A4(a_+é+al)_6 B,(8; +2 +8,+2,) =0

4 2]

—?JA-:]_? A2:2 ’ A3:3 b A4:4
B=0B,=4 > B,=8

a1 a2 a3 a4 a5 a6 a7 a8 a9 alO ail a12

A 1 21 3 | 4 1 21 3 | 4 1
B 0| 48|01 4] 8| 0] 4] 38 0 4 8
R 1 6 | 11 | 4 5 110 3 8 9 2 7 12

[i' tH 13, +6a, +11a, +4a, +5a; +10a + 3a, +8a, +9a, + 28, + 7a,, +12a,, =0

[N1<d, <9 » ' (d,,d,)=(9,3) > (9.1 - (6,6) > (6,2) > (33) > B -
22 @Y (7Y - (51 > (7,5 > Hlid,d, £

12 ] 11 (l> (dl’dz):(9,3)
(1,4,11,8,3,6,10,7,2,5,12,9) [l [l 1 (5 E£R% > b2 (L3
TN et BRETIAI B [
7 % 12 u (2) (dl’dz):(g,l)

7 (1,4,11,7,3,8,10,5,2,6,12,9) [l L l1— {f =X &8 > £12 [H£E)]3
1 O R I A

e

10 o 1) (3) (dy,d,)=(7.1)
6 . (1,4,9,7,3,11,8,5,2,6,10,12)(1,3,9,7,5,10,8,4, 2,6,12,11)
N (1,2,11,7,5,9,8,3,4,6,12,10)(1,3,7,11,8,5,2,10,6,4,9,12) fiil -4 ] I-
’ l iy N I I -
o A 7 B S035 » b32 [HEE3 WEFIA B2 [

9

10(4) (dl'dz) = (6’6)
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5

12 . 2 &7 ° ? |'§/£§’§/ H:[J
611 98 66) (5) (dl, dz) = (6, 2)
. ] (12,9,8,510,7,4,3,6,11,12)(L 2,7,10,9,6,3,8,5,4,11,12) ffil 2l ] -
4 % 1 2 o, I,[E{k"i[ % L%. » P12 f[ﬁ[}?[%]”3 I,[Eq—’llgj“ﬁl? [F3= > [HJ

| (6) (0,d,)=(51
3 (1,4,7,10,3,11,6,5,2,9,8,12)(L,3,7,9,11,5,2,8,6,4,12,10)
g1 h (1,3,7,9,5,11,6,4,2,8,10,12)(1 2,9,8,5,11,6,3,4,7,10,12)
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(15,4,11,8,7,2,10,3,6,9,12) (1,3,5,11,9,7,2,8,4,6,10,12)
(1,3,6,9,10,7,2,8,5,410,12) [ [~ i HEBE > p12 [HE15]3

; EFIIAS 125 [y
e 5 (7> (d11d2)2(3,3)
8 11 (1, 7,5,11,3,9,4,10, 2,8,6,12) ETII%L—E,[ H [— f[ﬁ”&'/f}[ ’ézrh;%_ » b5 [’[E{}?E,]”fp
i 10 9 ’ f’f Bﬁ}};[ﬂj
(3:) 1 ( 8 ) (dl, dz) = (3,1)
12 1 2 . (1,7,5,10,3,11,4,8,2,9,6,12)(1,2,8,7,9,10,4,3,5,6,12,11)
(1,3,10,7,11,5,2,6,9,4,12,8)(1,5,4,9,11,7,2,8,3,6,12,10)
1 5 0 9 1,7,4,11,5,9,2,10,3,8,6,12) [#il t-EI HP TS E SR 5 B2 WES3
1 - o TERIIAE B [
) ° (9) (dl,d2)=(2,2)
5 4 9 (1| 2, 7,8;9;10131 4,5, 6,11,12) [‘;ﬁ[%ﬁ}[ H [— I,[E{Bi[ ?\‘J‘E , ‘FI‘LS [,[E{}?[%]”fl:[
(2,23) A R [HJ

(10) (d,,d,)=(L1)
(1,3,6,8,9,11,2,4,5,7,10,12) [l ¢t [ 1~ {0 H 135 » |15 [ £5]A
BN [ﬂj
(11) (d,,d,)=(7.5)
(1,2,10,11,5,4,8,7,3,6,12,9) il - Fl i~ [ 0 S5h3 > ) 2 {2 3
4 9 ERIIFIE 12 ||

T e =T i T T

2 31| 23! 213! 213! 231 2Ix3!| 21k 3|
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(=) PJEFpPg= 4 @Y R0 - n=30=5x6=pxq > (p,q)=1

1(ag + 8y, + 8y, + 8y, +8y,) =0-
A(a, +8y, +8y; + 85 +8y) =0++(2)
5(a, + 8y + 8y 8y, +85) =0+
2(a, +a, +a, +a, +a,)=0--(4)
3(a, +a, +ay, +a, +8a,)=0---(5)
6(a + 2+, +ay, + ) = 0-++(6)

6 0(ag + g + By + g + 8y +8g) = 0-++(7)
6x1(a, +8; +ay, + 8y + 8y +85) = 0--(8)

6><2(a2+a +a12+a17+a22+a27) 5--(9)
6X3(a3+a8+a13+a18+a23+a28) 6"(10)
6x4(a, +ay+a, +a,+ay,+8,)=0-

EH(l)+(2)+(3)+(4)+(5)+(6)+(7)+(8)+(9)+(10)+(11):6
H fﬁ: E 2 ” AI EJJI/ [/4 A 3 EJT‘<a1 Ay, "+, 859,85 £L
12,15, 20,29, 4,7,18,21,26,5,10,13, 24,27, 2,
11,16,19,30,3,8,17,22, 25,6,9,14,23,28,1

TR ERL > 2 0 30 e » 29 » 30AVETE RS A B
qgwiﬂ/pi :

A EE S A BRI - 7 M E YRR 2 R

125,22, 3, ...... ; 302]314 £ Eg = X%JI/ ‘FI%};EI%.EJ{/[I‘R :
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(=)

eI EE = A ﬁﬁ » n=30=5x6=pxq > (p,q)=1
5 AR TR A ] R (1,4,5,2,3,6) 0 (I
(8 + 85 + 8y, + Ay T 8y) =

2% (8ys + 8y + 857+, + )
3% (0 + 5 + 8, + 85 +8y,) =
6% (8 + 2 +8, +a;+8,) =
(6% 0)*(Bgy + 85 + 8y + Byg + 8y +8y) =0
(6%2)° (B + 8y, + 85 + 8y, + 85 +8) =0

0
(8 + 8y, + 8y, + 8y +8y) =0
52(310+316+azz+azs+a4)20

ol o ol

(6x2)*(a, +a, +a, +a, +a,+a,)=0
(6x3)?(ay, + 8y, + 8y, + 8, + 85 +8,,) =0
(6x4)*(ay, +ay, +a, +a,+a,+a,)=0
(6x0)(la,, +4a, +5a,, +2a,, +3a,, +6a,) =0
(6x2)(la, +4a,, +5a,, +2a,, +3a, +6a,)=0
(6x4)(la, +4a,, +5a,, + 2a,, + 3a, +6a,) =0
(6x6)(1ay, + 4a,, +5a,, + 2a, +3a, +6a,,) =0
(6x8)(1a,, + 4a,, +5a, +2a, + 3a,, +6a,,) =0

a, V(50T 62 + (6x1)% + (6x 2) x 6 =122
a—‘[/ [TEI 3% + (6% 2)? + (6x4)x3=15°
a, [V [TErEE 2% + (6x3)? + (6x 6) x 2 = 207
a, V [FHrL 5% + (6x4) + (6x8) x5 = 29°
‘*I/I'%F;é)(rﬂ42+(6><0)2+(6><o)><4=42
a, VA1 + (6x1)° + (6% 2)x1=T7?
5*[/ THEEL 67 + (6% 2)° + (6% 4)x 6 =187
a, IV (i HrEL 3% + (6x3)% + (6% 6)x 3= 217
a, .V [FE7ET 22 + (6% 4)® + (6x8) x 2 = 26
a, .V (505 52 + (6% 0)2 + (6% 0) x5 =52
ay, .V [FEEL 4% + (6x1)% + (6% 2) x4 =107
a, V [FEr 1 + (6x 2)° + (6x4) x1=13°
aig a,, -V [FHrT 62 + (6x3)% + (6x6)x 6 = 24°
ay, V [FErEL 3% + (6% 4)% + (6x8)x3 =272
5j/],{:El\TmZZ+(6><O)2+(6><0)><2:22
ay, oV [P 52 4+ (6x1)? + (6x 2) x5 =112
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a, IV [THrEL 47 + (6% 2)? + (6x4) x4 =167
ay, V [FEEL1 + (6x3)? + (6x6)x1=197
ay,  [FEEL 6% + (6x4)? + (6x8) x 6 = 307
a, I [FHrE 32 + (6%0)2 + (6x0)x3=3
a, IV [FErEL 22 4 (6x1)2 + (6x2)x2 =8

a,, V[ 5% +(6x2)° + (6x4)x5=17
ay, LV [FEEEL 42 + (6% 3)% + (6x 6) x 4 = 222
ay, IV [FErET + (6x4) + (6x8) x1= 252
a, .V [THIEL 6% + (6x0) + (6x0)x 6 = 67
ay I FHE 3 + (6x1)% +(6x2)x3=9’

a,, V (THEL 2% + (6% 2)° + (6x4)x 2 =14°
a, V [FEL 5% + (6% 3)? + (6% 6) x5 = 23
8y V (FHHT 4% + (6% 4)° +(6x8)x 4 =28
ay, V [THEL1? + (6x0)? + (6x0)x1=12

POHEETAZ A Y - B R a,a,, 0, 8y, 84 Bl
12%,15%,20%,29°,4%,7%,18%,21%,26%,5%,10%,13%,24%,27%, 2%,
11%,16%,19%,30%,3%,8%,17%,22%,25%,6%,9%,14%,23?,28° 1
$1.12,15,20,29,4,7,18,21,26,5,10,13, 24, 27,2,
11,16,19,30,3,8,17,22,25,6,9,14, 23,28, 1 &=V 1 1)

AE R > 22 3 s > 29% > 0PPUETE A= A B
qgﬂw/ypi :
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TS
%F[aniz[ JBI[ } I_AEQETEH:J'E?]: ’ —E":_" %1%’5.@12 ’ 22 ’ 32 y .o 0 N F[fngJF{‘
3l 23587
?J _c052k—ﬂ+|sm2k—ﬂ k=012 -onen. » n=1

n n
il @, 5 X" =1F9n (A AL
pen=pxq > p>1-
P SRR (ag, 8y, 8y, 8g )

q-1
it ayw, +a,0f +a,07 "+ +a, 0P =
j=0
p-1
0) +0) +a)2xq Joeennes + a)rgpfl)q =0 > Ej” Za)njq 0.-.... (2)
j=0
S
! a)n + a)np + a)ﬁxp Foeeeenn + a)rgqfl)p 0 EIH a)n Ip 0 ...... (3)
j=0

SR (@) 745 F2(5-1)gw, P s 1<s<p e (4)
JLH (2) 5% Fa o P s 1<t<q - (5)

SR (3) = F(s-1)%0%w M s 1<s<p e (6)

(4)+(5)+(6)
ZZ(S 1)qa)(51)”z:a)”’+Z:at ‘o, 1)p2a)’p+2[(s )q]’

n-—

(p,q)zl ’ q_EJ.'TL :;%—/.::;15‘2},1 ) 2 Y eeeeee

(s l)an) [

=>Zbk0)nk— » E b, _[atl +2(s-1)q+((s- 1)q)} [atfl+(s—1)q]2

w(pa)=1> te{l2,..q} > se{l,2,..,p}

~“k=@t-)p+(s-Hg (modn)

S ke {0,1,2,..., n—l}
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% I'F'EJ?%"E)FT?EEIEF\[@& 203 ' NP U

F’,sf_ » PRIER = f[ﬁl@ﬁ’rﬁd-‘;'ﬁ@;ﬁ 125,22, 35 e ) nZFNg, B

I’FEJJF(T]EH IT'[:)“II'[E'{ETEHJJ’JT';E\F["@*: 13,238, 3, . ) nSE[fj%""E"’JEf‘”

PRI s 5P [ Fefed /| 9 210(= 2% 3x 5 7 )3 138 - -
12%(8, + 8, + 8y + 8oy + By + g5y +841) = 0

15%(@, + gy + g, + g, + By, + Bygy +yg) = 0

20° (8 + 8gy + Bgg + Bgg + By + Bigy + Byg) =
29° (@ + g, + g, + 8oy + Byy + Bugy +Bygy) =
43(ag + 8y +...+ 815) =0

0
0

7@, +...+a,) =0

18%(a, +...+a,,) =0
21%(ag +...+ay) =0
26°(ag +...+ 8,) =0

5%(ayy +...+ 8yg) = 0

10°(a, +...+a,,) =0
13%(ay, +...+a,,) =0
24° (8 +...+8,,) = 0
27%(ay, +...+a,,) =0

2%(yg + ...+ 8y5) =0

1P(a, +...+8,,) =0
16°(a, +..+ a,4) =0
19°(a, +...+ a,4) =0
30° (A +...+ 8y0) =0
3 (ay +...+ 8y) =0
8 (ay +.+85,) =0

17%(ay, +...+ 8,,) =0
22% 8y + 114 8y05) = 0
ay,)=0

28 (8yq + .1+ 8yp) =0

1% (@, + gy +...+ 8y) =0

21



(30x0)%(8, + 8, + 8y + 8y + Byg +... 4 Bygr + 8yy) =0
(30x1)°(@, + @y + 8y + 8y +...+ Byes) = 0
(30%2)%(a, + 8y, + 8, +...+ 8y ) =0
(30x3)*(a, +ay, +a +..+8y,)=0
(30x4)%(a +a,, + 8,y +...+8y) =0
(30x5)*(ag + 85 + 8y +... + 8ype) =0
0

(30x6)%(a, +a, + a8, +...+8y,) =

3x(30x0)?(12a, + 21a, + 2a,, +17a,, + 28a,, + 7a,, + 24a,, + 3a,, +14a,, + 29a,, +10a,,
+19a,, + 62y, +15a,, + 262y, +11a,, + 22a,,, +1a,,, +18a,,, + 27a,,, +8a,,
+23a,,, + 48, +13a,,, +308,., + 98, + 208, + 58,4, +168,,, + 258,,,) =0

3x(30x1)?(12ay,, + 21a,,, + 28, +17a,, +...+ 25a,,,) =0

3x(30x2)*(12a,, + 21a,, + 2a,; +... +25a,,)=0

3% (30x3)?(12a,,, + 218, + 28,4 +...+ 258,,,) = 0

3% (30x 4)?(12a,, + 21ag, + 2@, +... +25a,,)=0

3% (30x5)? (128,45, + 218,45 + 28, +...+ 258,,,) =0

3% (30x 6)*(12ay, + 21a,, + 28,4 +... +25a,,) =0

3x(30x0)(12%a, + 21%a, + 2°a,, +17%a,, + 28%a,, + 7°a, + 24°a,, + 3’ a,, +14%a,, + 29°a,,
+10%a,, +19%°a,, + 6°a, +15%a,, + 26%a,, +11%a,,, + 22°a,, +1°a,,, +18%a,,, + 27%a,,,
8%a,,, +23%a,,, + 4% a,, +13°a,, +30%a,, +9°a,,, + 20°a,, + 5°a,,, +16%a,,, + 25%a,,,)
3x (30x1)(12%a,,, + 21785 ++-----+25°Q,,,)
3x(30x2)(12%a,, + 21%a,, +------+ 25°a,,)
3x (30x3)(12%ay,, +21% 8,y +- -+ + 25%@,,,)
3x(30x4)(12%a,, +21% @z +++ -+ + 25%a,,)
3x(30x5)(12%ay, + 212 @, ++ -+ + 25%a,,,)
3% (30x6)(12%ay, + 217 gy ++++++++25°ay,)
a, .V [FHrE12° +122 x30x 0+12x (30x 0)? + (30% 0)° =12°
a, IV [FErEn15° +15” x30x1+15x% (30x1)* + (30x1)° = 45°
a, IV (8L 20° + 202 x30x 2+ 20 (30x 2)? + (30 2)° = 80°
a, .V (FHrEL 29° + 297 x 30 x 3+ 29 % (30x 3)? + (30x 3)° =119°
a, V [THrEL 4% + 42 x30x 4+ 4x (30x 4)? + (30x 4)° =124°
a,  [FEEL 72 + 72 x30x 5+ 7% (30x5)° + (30x5)° =157°
a— / (TEET18° +182 x 30x 6 +18x (30 % 6) + (30x 6)° =198°
a, [V [FErEL 21° + 217 x30x 0+ 21x (30x 0)? + (30x 0)° = 21°
a, I [FFH7ET 26° + 262 x 30 x1+ 26 x (30 x1)? + (30%x1)° = 56°
*l/[,rgm 15 +5%x30x 2+5x(30x2)% +(30x2)° =65°......

22



@FIFJnFAI J4|[4|; Fpﬂﬁ[ﬂa'ﬁﬂj y TR T ﬁgj%t@f y 23, 3P, ' n EJ* EJ
3| 3587
'AJ w* = cos ”k+isin 27k k=0,12,..n-1
n
AW EL X" =1f9AL > Hflin=pxq > 2 qQEH[EHA8L2,., A1, 2%, g puETE

)] 2387

(GBS U(ao,a1 ..... aq_l)ﬂl(aoz,af ..... aq_lz)

p-1
1) = > wi=0
j=0

Wl +wo w4+ WP =0

W+ WP+ WP LW =

g-1
2 = wP=0
j=0

aW’ +a,wP +a,w?” +...+a, W =0

1
3) =Y awP=0
=0

a," W’ +a, WP +a,’ W’ +...+a,, ‘WP =0

q-1 _
4) =Y a'wP=0
j=0

@) Fa fw D i<t <q (5)
Q) E (51w - H 115 < p—(6)
@) F3(s -1’ w™ » H[11<s<p (7
@ 3 -Haw - Hi1<s<p——(8)

q p-1 p ot
OO (@)=L 2w Ew 4 D (s -1y gl S

: j=0

3 (s 1wt 1>qxzawm+zs<s qw Z WP =0

s=1

H Zbkw" =0 > E i
k=0

b = &’ +3(s—Daxa’ +3(s-1)’d’ xa_, +(s-0°0° | =[a, + (s-Da]

w(pa)=1:"te{l,2,..,q9},5€{12,..,p}

~k=(t-1)p+(s-1)g(modn) =k e{0,1,2,...,n-1}

t=1ff > s=12,3-,p > k#{0,9,29,-+,(p-1)q

t=2E\3j 1 §=12,3---- P k'{@@j P,P+q,p+2q, - ,p+(p-1)qg
t:qlz[%'j ) S:1,2,3 ...... ,p ) kfgf@

(@-Dp.(q- Dp+q(q Dp+2g,-- (9-)p+(p-1)q
i {by by by} T EB L, 20, O ()
EI”P e IFEH‘&F—FU ENE . r1}11 , ot gt
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F%n:]‘[ogi ' (a,,a,)=1 Vazb a,b=123,..k » abhn gl mms
i=1
LIécp:

k=l=n=aa, ' i'Ha,a,a,.. fi— S g, Y

alaz -1

2 N
k=2=n=aaae > 'Ha,.a" 3, .4,

k=3=>n=aauaq,  ['H ao ai az v Qg a BT V| v, aa, 1B
k=1 F'H123, - nfivE" E‘-'Jﬁi'f/[J Y
k=2 H 120237 e n2F|€J§E‘-'JE§»f—” %é{%
)
f
k:t_]_F[J f:FJIH,ZHSH, ______ tlEIJA £ [,:f ru L’Eﬁ{ﬁi/
t+1
F%li;[ai =A
@+ 0" + &t o+ VR =0 -
@+ 0" +@0* 4+ 0" =0 -2
a,0° + 0% +a,0° +---+a, 0" =0  —(3)
daie’ +alo™ + 2w’ +----+ a2 0" P =0  —(4)
a0’ +a 0™ +a) @™+ A oM =0 (t+1)
A (D) a0t 1I<I<A  —(t+2)
K@)z FC{AmM-1)] o™ —(t+3)
g (3):h c FCHL[AM -] om0 —(t+4)
: 1<m<g
(1) [A(m D]o™ " —(2t+2)

Cl,i=12,..,t M0 A
(t+2)+(t+3)+(t+4)+----- +(2t+2)

B b
b, {a|1+C AM-1)xa +CL[AM -] xa2 4+ C[Am-1)]

TEH [al—l +A(m _1)T
(e, A)=1> " |€{1,2, ...... ,A} ; me{l,z, ...... ,al}



< x=(1-Da, +(m-1)A(modn) » Hflixe{1,2,,n}
|=1F > m=123 > XHH0,A2A (& -DA
|=2[5 » m=123a, * X a0+ Aay+2A 0,0+ (o ~DA

(A-Day, (A-Day, + A (A=1)ay + 2A, -+, (A1), + (o, ~ 1) A
ﬁ'y{bo’bp ...... b FERT, 20,3 N (]
A PGS

N E{I’nz pm ( p t@@ﬁ‘gfz—, meN )> EI[JT\T’;—I‘i%‘*E‘J;ﬁﬁ“nJ%JI&/ =i F_E[ P.12 -
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12 5L P4
14 FTJ FL P9
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5L P31

Fé‘fﬁl p.32

)

20

24

27



n A e

30 E—El P.17
FJI 3][—H I—p%ﬂg‘r[ﬂlfﬁﬁ s T TRIER K 125 2%2,3, ..., nZF[fjngﬁ'J;_:gz\r” %38

ﬁ/’ﬂF F—E‘P25 ')n=30 850> & R £312°,157, 207, 29%, 4%, 7°,18%, 217, 267,
5%,10%,13%,24% 277,27 11%,16%,19°,30%,3°,87,17%,22%,25%,6%,9°,14°, 237,287, 1° iy %"
FP= A 3 e * (FERLP20)

28



SR P4 TR BT B R L 2 8 e O] 23

7 o (F—E'P23>

SR L BT R L 0 2 3 e n ) 4

ﬁi—i% (F—E' P.24)

 PIETE A= 0 D 210 3875

ST 5] = ] 3870 38R 127 157, 20, 29°, 4%, 77,187,212, 267, 5°,10%,13%, 247,

272,22,112,162,192,302,32,82,172,222,252,62,92,142,232,282,12 » 31 12,15,20,29,4,

7,18,21,26,5,10,13,24,27,2,11,16,19,30,3,8,17,22,25,6,9,14,23,28,1 == 0,30,60,90,120,
150,180 4 nyi8= tha’ o iy a, JjI A5

12 115 |20 |29 |4 7 18 |21 |26 |5 |10 |13 |24 |27 |2
0O |30 |60 |90 |120|150|180 /0 |30 |60 |90 |120 1501800
12 |45 |80 | 119 | 124 | 157|198 | 21 | 56 | 65 | 100 | 133 | 174 | 207 | 2
11 |16 |19 |30 |3 8 17 122 |25 |6 |9 14 123 |28 |1
30 |60 |90 |120|150|180 /0 |30 |60 |90 |120150|180|0 |30
41 |76 | 109 | 150 | 153 | 188 | 17 |52 |85 |96 | 129 | 164 | 203 | 28 | 31

12 115 |20 |29 |4 18 121 |26 |5 10 |13 |24 |27 |2
60 |90 | 120|150 | 180 30 |60 |90 [120 1501800 |30 |60
72 1105|140 179|184 |7 |48 |81 |116|125|160|193 |24 |57 |62

~

o

11 |16 [19 |30 17 122 |25 |6 9 14 123 |28 |1
90 |120 150|180 30 |60 |90 |120]150 /1800 |30 |60 |90
101 136|169 | 210 |3 |38 |77 |112|145|156|189 |14 |53 |88 |91

w
o

o

12 |15 |20 |29 |4 |7 |18 |21 |26 |5 10 |13 |24 |27 |2
1201150180 |0 |30 |60 |90 |120|150|180 |0 |30 |60 |90 |120
132 1165|200 |29 |34 |67 | 108 | 141|176 | 185 |10 |43 | 84 | 117 | 122

11 (16 |19 |30 |3 |8 |17 |22 [25 |6 |9 |14 |23 |28 |1
150 1180 |0 |30 |60 |90 | 120 | 150 | 180 30 |60 |90 | 120|150
161 (196 |19 |60 |63 |98 | 137 |172|205|6 |39 |74 | 113|148 | 156

o

12 115 (20 |29 |4 |7 18 |21 |26 |5 |10 |13 |24 |27 |2
180 (0 |30 |60 |90 | 120|150 1800 |30 |60 |90 |120 150 180
192 |15 |50 |89 |94 | 127|168 | 201 |26 |35 |70 | 103 | 144 | 177 | 182

11 |16 |19 |30 |3 8 17 122 |25 |6 |9 |14 |23 |28 |1
0O (30|60 [90 |120/150(180|0 |30 |60 |90 |120|150|180 |0
11 146 |79 | 120 | 123|158 | 197 |22 |55 |66 |99 | 134 | 173|208 |1

12 115 |20 |29 |4 7 18 |21 |26 |5 |10 |13 |24 |27 |2
30 |60 {90 |[120 1501800 |30 |60 |90 |120|150|180 0 |30
42 |75 1110|149 | 154 | 187 | 18 |51 |86 | 95 | 130 | 163 | 204 | 27 | 32

29




11 |16 |19 |30 |3 8 |17 122 |25 |6 9 14 23128 |1
60 (90 |120|150|180|0 |30 |60 |90 |120|150|180|0 |30 |60
71 1106 1139|180 | 183 |8 |47 |82 | 115|126 | 159|194 |23 |58 |61
12 |15 |20 |29 |4 |7 |18 |21 |26 |5 10 (13 |24 |27 |2
90 |[120/150|180|0 |30 |60 |90 |120|150]180|0 |30 |60 |90
102 | 135|170 | 209 |4 |37 |78 | 111 |146| 155|190 |13 |54 |87 |92
11 (16 |19 |30 |3 |8 |17 |22 |25 |6 9 |14 2328 |1
1201150180 |0 |30 |60 |90 |120|150|180 |0 |30 |60 |90 |120
131|166 | 199 | 30 |33 |68 | 107 | 142 | 175|186 |9 |44 |83 | 118|121
12 |15 |20 |29 |4 |7 |18 |21 [26 |5 |10 |13 |24 |27 |2
150 {180 |0 |30 |60 |90 | 120|150 180 |0 |30 |60 |90 |120 150
162 {19520 |59 |64 |97 | 138 | 171|206 |5 |40 |73 | 114|147 | 152
11 |16 |19 {30 |3 |8 17 122 |25 |6 |9 |14 |23 |28 |1
1800 |30 |60 |90 [120 150|180 (0 |30 |60 [90 | 120|150 | 180
19116 |49 |90 |93 | 128 | 167|202 |25 |36 |69 | 104 | 143|178 | 181
SN S
PR Akl SBR[ P PR R S MEE S B
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,IEJ > I'EI*PIJ [d([»} p,F[:L 7 53 ﬁl_}yg(‘:ﬁ [/if—? —LIEJ ,ijt‘ﬁ% [—“J/F J\("F—{EE&, iT}IUIHIEH

VIR RS =P T e 53

Ef F,&'ﬁ[gﬁlgg o
AT S PR
HE P aroms 1o e - vRIpod = o e T2 RA [;Jp%ﬁg}ﬁ

=

WL PR AP RS
G O ORI E s 205

it

-~ AV

Pith (s

\z',
Bl
l:

ElE &2 FIJQ’FJEH °
- \.EJTJFJHI N 86) - I Y

Lyl

BT YRR S

SRR CZ R e S

=

-

Y GO P PR e i PRI P9 e

m P © A 2
o T2 r?*gl
I > A= = 6 il

AR E | oo .

HE - o B

30

R - B ¢ Y



I~ i

- IR R ] 0 3
1/n=20]

sin2—”+a sin 2x2
Q 20 2

&

T sin—19XZ”+a Sin—20x27z =0
a'l9 20 20 2

J5-1 J10-245
4

—(31+39 ay; —ay) +

J”+1 J10+2+/5
4

(8, +ag—ay, —a) +

(aﬁ"'a a13—a17)+ +(a4+ae_a14_a16)+(a5_a15):0

2(a5-ay5)=(ay tag-ay, -ayg)=-(a; +a,-a3-3y,) -~ (3)
(a,+83-3,-8,4)=0-- (1)
(8, ta5-a,-3,5)=0---(2)

(a,+ag-a;,-a,)=0
(a;+ag-ay5-8,5)=0--(9)
(a,tayy-a,-8,)=0
(as+ay;-a;5-a,)=0

(a5 +ay,-a,-8,)=0
(a,+ay;-a,;-85)=0
(ag+a,,-8,4-3,)=0
(agtas-a,-a5)=0---(4)
(ay, tayg-ay-35)=0
(ay,+ay;-a,-a;)=0--(5)

Q@) pr

(a,+a5-a,,-8,5)=0
(as+a;-a,5-8,,)=0---(8)
(85 +ay-845-8,5)=0

(8, +89-3;7-8,9)=0--+ (7)
(85+855-845-850)=0
(ag+ay;,-8,9-3,)=0

(a0 %ay,-859-8,)=0

(a,; ta;-a,-8,)=0
(a,ta,-a,-,)=0

(a3 +ays-a5-35)=0
FI[(A') 85 — &5 =89 — &y RENE))
= 2(ay —a,) =(a +ay—a,; —ay) > a—a,=a —a, - (6)
(5 a-a,=a,-a, %" (6)

F(2) ' i
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= @, + 85— 8y, —ay, = 0= (7) [fil

11(8) a—as=a,-a (%" (3)

= 2(ay; —a,) =8, + 8, —8;— 8 = &, —8& =a; — ;- (10)
H19) a,-a;=a;,—a,(* * (10)

= 8, +8y —8y; —a, =0= (7) [f

F@)(2) A A 3BT B S 2

as_am:_dl a4_6‘14:_(12
%{31_311:(11 — a5_5‘15:(11 , aG_a16:d2
] az_aizzdz a-7_317=_dl as_aiaz_dz
ae_aigzdl Qo —

a=A a,=A-d
a,=B a,=B-d,
a,=C a,=C+d,
a,=D a,=D+d,
i as=E a;=E-d,
a=F a,=F-d,
a,=G a,=6G+d,
ag=H a,=H+d,
a =1 ay,=1-d,
a,=J a,=J-d,

~ Y
n=24

. 2T . 2X21m . 23x2rx . 24x21
85I +2,sin +~-+a233|n2—+a245|n—=0

. 27 . 2x21m
smz(ai"'au_am_aza)""S'nT(az+aio_a14_a22)+

X 27T . 4x2
(a“3+a9_a15_a21)+3m

. T
sin (a4+a8_a16 _azo)"‘
. bx2
sin >~ ﬂ:(a5+a7_a17_a19)+(a6_a18):0
J6-2 1
4 (a'1+a11_a13_a23)+_(a2+a10_a14_a22)+
J2

J3
7(33"'&9_315 21)+ (8, +8g — 8y —ay) +
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\/—+\/_

(a5 +a, —a, —ay) +(a;—a,) =0

a, ta,—a,—3ay, =2(a6_a'18)"'(3)

a +a;; — a3~ ay =_(a5+a7_317_319)=a3+a9_ais_a21"'

a,+ag—ag—ay,=0--(1)

8 +ay—a,—ay, =0
a5+a9—a17—a21:0---(8)
85 +8y — )y — 8y, =0--(4)
a; +a; —89—8,; =0---(6)
ag+a;, 8, —a, =0
8y +a—a,—a =0
ap+a,—a,-a,=0
a;; ta;—a, —a3:0
a, +a;—a,—-a,=0
Az tay; —a — 8.5—0---(7)
ay, tag—a,—a,=0--(2)
a15+a19—a3—a7=0---(9)

H1@ e

F1(3) (a,+ay—a,—a,)=2(a,—a) ' (2)

A, — 8y, = Ay — 85 = By — 8y = ayy — 35 = (4) il

H1(5) (& +ay, —a, —8,) =—(a;+a, —a, —a;,) [* 7 (6)
ay—aig=a23—au:a1—a13=aﬂ—a§3(7)fm

[C7(8) as—ay =ay —8,=>a;—as =a,—a = (9 [fi
) ﬁﬁ[Pﬁ‘ - Py EJJI/“I’T‘FF Lgf;ﬂﬁﬁ

a-a,=d, a=A a;=A-d,
a,—a, =0y a,=B a,=B-d;
a,—a =d¢ a,=C a;=C-d;
a, —a, =dp a,=D a;=D-d,
a;—a,; =—d, a,=E a;=E+d,
%ag_au:dA - a=F a,=F+d;
i a;—a, =—dg a,=G a,=G+d;
a —a, =dg a=H a,=H+d,
a; —a, =—dc a =1 a,=1-d,
a8 =d¢ ap,=J a,=J-d;
g —ay =—d, a, =K a,;=K-d;
a, —a, =dp a,=L a,=L-d;

Q)



S ETE R T/[JF‘ES 14,20,3,9,15,21,6,12,18,24,1,7,13,19,4,10,16, 22,5,11,
17,232 V%

11

22

SETA 20 587 TR

aizA alle_dl ' azzB alzzB_d
a,=C a,=C+d, , a,=D a,=D+d,
a;=E a15=E_dl , 8 =F alG_F_dZ
a,=G a,=G+d, , aa=H az=H+d,
a = | a19=|_d1 A =1J azoz‘]_dz
[N15>d, >d,>1 » Fi'tf
(d;,d,) = (15,5);(15,1); (13,3); (13,1); (11,9); (11, 7); (11,1); (10, 2); (9,); ,
(7,3);(7,:(6,2);(5,3); (5,1);(3,1); (10,10); (5,5); (2, 2); LD~
(1) (dl’dz):(1515)
1,6,17,12,3,8,19,14,5,10,16,11,2,7,18,13,4,9, 20,15) (A 1 #&)[HIE~ +’éH[pfj—
A RS BIYE A HERIIN I = A2 S (HERT 2 = FHE(E T 2)
(2) (d;,d,)=(15)
6,17,9,3,10,19,13,5,14,16,7,2,8,18,11,4,12,20,15) (4 1 #&)fmlE~ ir%H{ElfP
ARG PIVE A HERII BI9E = A HE ) S R 2 P FHEEE ] 2)
(3) (d;,d,)=(133)
1,4,15,11,3,9,18,13,6,17,14,7,2,8,16,12,5,10,19, 20) ...(F 4 FE)[filt~ & Hlfm
= A EEE o PIVHATRERINN BII = A e S RS R (R 2)
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<4> (dl’ dz) = (1311)
(1,5,15,9,3,10,17,13,20,18,14,6,2,8,16,11,4,12,20,19) ...(H 6 FE) il HEF[IAY
— AL EBE o DIV A TR I = A e S RS R (] 2)
(5) (d;,d,)=(11,9)
(1,2,14,13,5,6,18,17,9,10,12,11,3,4,16,15,7,8,20,19) (4 1 F&)[ifil tt:— $Ef1[i0—
A o PIIE A EERI I - R E) S (RRRIT 2 PR EE(E T 2)
(6) (d,,d,)=(117)
(1,2,15,10,5,7,17,18,8,13,12,9,4,3,16,14,6,11,19, 20) ...(H. 2 FE0)[iil i~ HEF[ 1Ay
= A EEE o PIVHATRERINN BIIE = A e S RS R (R 2)
(7) (dy,d,)=(12)
(1,6,13,9,3,10,15,18,5,19,12,7,2,8,14,11,4,17,16,20) ...(H. 21 FE) il tie HEF[IFY
= A EEE o DIV A TEERIIN B IE = A e S RS R (R 2)
(8) (d;,d,)=(10,2)
(1,2,13,8,5,10,17,16,9,18,11,4,3,6,15,12,7,14,19, 20) ...(H. 2 FE0)[iil i~ HEF[ 1Ay
= A EEE o DIV ATRERINN BIIE - AE pE ) S RS R (R 2)
(9) (d,,d,)=(9,2)
(1,6,11,9,3,15,13,18,5,19,10,7,2,8,12,16,4,17,14,20) ...(H. 36 FE) il tie HEF[IFY
— AL EBE o DIV A TR I = A e S RS R (] 2)
(10) (d,,d,)=(7,3)
(1,4,9,14,3,15,12,19,6,17,8,7,2,11,10,18,5,16,13,20) ...(H. 24 FE)[iil i HEF[1FY
= A EEE o DIV ATRERINN BIIE = AE pE ) S RS R (R 2)
(11) (d,,d,)=(7,9)
(1,6,9,14,3,15,11,18,5,19,8,7,2,13,10,16,4,17,12, 20) ...(. 28 FE0)[iil ki HEF[1fY
= AL EBE o DIV A TR I = A e 5 RS R (R 2)
(12) (d;,d,)=(6,2)
(1,4,8,14,3,13,11,19,10,18,7,6,2,12,9,15,5,17,16,20) ...(H 34 7e0)[iil i~ H&f[1fiY
= A EEE o DIV A TEERINN B IE = A pE ) S RS R (R 2)
(13) (d,,d,)=(5,3)
(1,2,12,8,13,5,18,11,17,14,4,7,9,3,16,10,15,6,20,19) ...(H. 3 FE0)[iil st~ HEEF[1fY
= A EEE o PIVHATRERINN BII = AE pE ) S RS R (R 2)
(14) (dy,d,)=(5.1)
(1,11,7,14,3,15,9,18,5,19,6,12,2,13,8,16,4,17,10,20) ...(H. 13 F&)[ifil =~ HEf[1fY
= A EEE o DIV A TEERINN B IE = A e 5 RS R (R 2)
(15) (d;,d,)=@31)
(1,8,5,12,3,14,10,18,13,19,4,9,2,11,6,15,7,17,16,20) ...(H 61 FE)fil it~ HEF[1pY
= A EEE o PIVHATRERINN B I = A e S RS R (R 2)
(16) (d,,d,) = (10,10) (fEFlk=41~ ")
(1,2,13,14,5,6,17,18,9,10,11,12,3,4,15,16,7,8,19, 20) [iil -~ 7 &1 » 19 {HE
Gl A EE(E ] 2)
(17) (d;,d,) = (5,5) (FH[FIEeFi~ 75)
(1,2,8,9,5,11,17,18,14,15,6,7,3,4,10,16,12,13,19, 20) [iil -~ 7' &1 > $I9 {HE
72 = EFE(E ] 2)
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(18) (d,,d,) = (2,2) (H![filksz =47~ 721)
(1,2,7,8,9,10,15,16,17,18,3,4,5,6,11,12,13,14,19, 20) [iil -~ 7154 > $19 [HEE
Sl 2 f= R 2)

(19) (dy,d,) = L1) (FEFlke=47 - 72)
(1,3,6,8,9,11,14,16,17,19,2,4,5,7,10,12,13,15,18, 20) [t~ 7= %38 » H19{HEE
Gl 2 F=EE (R 2)

d, 15 15 13 13 11 11 11 10 9 7
d, 5 1 3 1 9 7 1 2 1 3
8 | 45! | 4Ik5! | 451 | 4&5! | 451 | 451 | 451 | 45! | 45! | 45!
x4 x6 x2 x21 x2 %36 x24

d, 7 6 5 5 3 10 5 2 1
d, 1 2 3 1 1 10 5 2 1
W8 | 4x51 | 45! | 45! | 451 | 4k5! | 91 9! 9! 9!

x28 x34 x3 x13 x61
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